
ОпеD4F8O кеE4Dе64 EеGе=8е =у6=4 длO то7о, Gто5O 876леGP плод 8 поEлед Eк6о7P 8EкуEEт6е==о 
Eо7д4==O9 D47Dе7 6 Eте=ке <4тк8, еEл8 5удуI4O <4<4 =е <о6ет Dод8тP Dе5е=к4 E4<оEтоOтелP=о 
8л8 к Qто<у еEтP пDот86опок474=8O. 

 

ОпеD4F8O кеE4Dе6о EеGе=8е <о6ет пDо6од8тPEO 6 пл4=о6о< 8л8 QкEтDе==о< поDOдке, 6 
7468E8<оEт8 от EоEтоO=8O <4теD8 8л8 плод4 8 =4л8G8O EеDPе7=OE оEло6=е=89. 

 

Н4л8G8е пок474=89 длO пл4=о6о9 опеD4F88 опDеделOетEO =4 Qт4пе 6е=Eко9 ко=EулPт4F88 6D4Gо<, 
котоDO9 6едет 5еDе<е==оEтP. О= 6е пDедоEт46лOет =4пD46ле=8O =4 8EEледо64=8O, котоDOе 
=ео5Eод8<O длO пDо6еде=8O кеE4Dе64 EеGе=8O (ко47уло7D4<<4, 58оE8<8GеEк89 4=4л87 кDо68, 
о5I89 4=4л87 кDо68, о5I89 4=4л87 <оG8, <47ок =4 <8кDоDлоDу, ЭК�-74клNGе=8е, ко=EулPт4F8O 
теD4пе6т4 8 дDу78E EпеF84л8Eто6 по пок474=8O<). 

 

Де=P E8DуD78GеEко9 опеD4F88 дол6е= 5OтP <4кE8<4лP=о пD85л86е==O< к пDедпол474е<о9 д4те 
Dодо6. �удуI4O <4<4 дол6=4 пD8=OтP дуH. � де=P опеD4F88 5еDе<е==о9 =елP7O еEтP 8л8 п8тP. 

 

ПD8 пDо6еде=88 опеD4F88 кеE4Dе64 EеGе=8O по=4до5OтEO ко<пDеEE8о==Oе Gулк8, котоDOе 
=4де64NтEO 6 де=P опеD4F88 (ле64, =е 6Eт464O E кDо64т8 поEле пDо5у6де=8O). 


